E76m WHETEAFEBKRS
INFEURUBREL
(D)

T HREHRNSRIVIGR
T HRETARIVARE RS
RiE HETEEEES - WETAR—YXILEERH
-H1H 4S#5£9HA3H(A)

BHi% 4AIsE004 BIRX 9007 (FRE)
218 REHRARAR—YE 42—



ER1EBF(23)

AY—=4 #K B HR HR B kLD - M| MR
15 3 150 0
1 Eiu P N 3 15— 3 0 15—-—1 0 = 2-0 1
il
3 x 15 15 0 7
2| AR BRE 3 — 15 15 — 10 0 - 1-1| 2
HEFH
0 x 15 7 x 15
3| R &LB 1 — 15 10— 15 2 - 0-2 | 3
HiE
4 ] — n
BY—4 | K’ W A # i KIE $H& MR | IR
15 5 15 O 2 150 5
1 B ® 15— 4 0 15—-2 0 15 — 6 30 1
iz
5 x 15 15 O 1 6 x 15
2| WWE FA 4 — 15 15— 20 11 - 15 1-2 | 3
R E
2 x 15 1 15 5 x 15
3 # BE 2 — 15 2 15 2 9 — 15 0-3 4
HT
5 x 15 150 6§ 15 0 5
4 AE H 6 — 15 1B — 11 0 15 — 9 0 2-1 2
£ B
cy—4 B XZE T R mE W =2 % R | e
15 6 15 O 10 7 O15
1| s XE 15-5 0 15— 4 0 15 — 13 a-0 | 1
L= 15 5
8 x 15 150 9 5 x 15
2| RFH TE 5 = 15 7 - 15 1 4 - 15 1-2 | 3
WEFw 15 11
10 x 15 9 15 7 x 15
3 BE R} 4 — 15 1B — 7 2 6 — 15 0-3 4
o "5
5 x 7 15 0 5 15 0 7
4 HE B 18— 15 15— 4 0 15— 6 0 2-1 2
WEFH 5 15

No.1



EE1EBF(23)

py—4 B QE =R @A HE % & u WE | I
15 0 8 150 5 15 0 9
1 MA sE 13 — 15 15 — 8 2 15—-6 0] 3-0 1
i) 15 12
8 x 15 15 O 13 15 O 14
2 £ X 15 — 13 15 — 14 2 15—-6 0] 2-1 2
maHER 12 15
5 x 15 13 x 15 15 0 7
3 FE 6% 8 — 15 14 — 15 2 15—-8 0| 1-2 3
H#HI
g x 15 14 x 15 7 x 15
4 #F MEH 6 — 15 6 — 15 8 — 15 0-3 4
WA
Ey—4 b3 &Y ER ENITINC 3 FEF A MR | IS
150 5 150 6 150 9
1 T HY 15 — 4 15 — 4 2 15— 4 0] 3-0 1
=
5 x 15 13 x 15 9 x 15
2 EAR it 4 — 15 14 — 15 0 13 —15 2| 0-3 4
1l
6 X 15 15 O 13 5 x 15
3 Xl B 4 — 15 15 — 14 1 15 —14 2| 1-2 3
REFR 11 15
g x 15 15 0O 9 15 O §
4 ER EA 4 — 15 15 — 13 14 — 15 2-1 2
o 15N
Fy—4 BF R IR Bk I 75 MO #itR | M | e
15 0 4 15 O 3 150 5
1 2F R 15 — 1 15 — 6 2 15 -7 0| 3-0 1
W
4 % 15 11 x 15 7 x 15
2| MR ER 1 =15 8 — 15 0 2 —15 2| 0-3 4
L Fk
3 x 15 15 O 11 11 x 15
3 Ik ER 8 — 15 15 — 8 0 9 —15 2| 1-2 3
HifE
5 x 15 15 O 7 15 O 11
4| HAO FiEEB 7 — 15 15 — 2 15 — 9 2-1 2
HEF

No.2



ER2EBF(27) No.3

A= e e - 26t EER — wE | B
15 O 4 15 O 3
1| hE B 216-5 0[215—-3 0 - 2-0 | 1
afs)
4 x 15 8 O 15
2 he fii— 0 5 — 15 2 215 -9 1 - 1-1 2
W4 R 15 4
3 x 15 15 x 8
a| R#t #BE 0 03 —15 2|1 9 — 15 2 - 0-2 | 3
115 4 15
4 = = = p
BY—% BN R L Bk E% BA = @AM | M | IRE
15 O 9 150 6 150 6
1 ANl 215—-4 0(215—-6 0|2 15—11 0| 3-0 1
i
9 x 15 9 x 15 6 x 15
2| W K 0 4 — 15 2 014 —15 2|0 9 —15 2| 0-3 | 4
M4 A
6 x 15 150 9 4 x 15
sl HE#E BXRED | 6 — 15 2|2 15 - 14 0 0 8 —15 2| 1-2| 3
i
6 x 15 15O 6 150 4
4| EHE BKE | o 11 -5 2|2 5-9 o2 15 -8 0 2-1 2
4 A
cy—4 T A8 WE %x— BEAR & KE BE | BK | B
15 O 4 15 O 8 150 0
1 Al B 215—-3 0(215~-9 0|2 15— 2 0| 3-0 i
i
4 x 15 6 x 15 10 x 15
2 WLk XK= |06 3 —15 2 0 6 —15 2|0 13 —15 2| 0-3 | 4
M4
8 x 15 15 0 6 15 O 6
a| BMEAIR BE | o ¢ —15 2|2 15 -6 o 2 15— 5 0| 2-1 2
HE
0 x 15 15 O 10 8 x 15
| EBF BE 0 2 —15 2|2 15 —13 0|0 5 — 15 2 1-2 | 3
&R




EB2F BF(27)

py—4 BX #t #H RE o7 I &HiR H#R Rk | RS
150 0 150 3 150 3
1 BR i 15 — 2 15 — 3 15— 5 0| 3-0 1
Wi
0 x 15 4 x 15 x 15
2 a1 RE 2 — 15 - 15 4 —15 2| 0-3 4
s
3 x.15 15 O 4 11 x 15
3| 8K sk 3 — 15 15 — 9 12 —15 2| 1-2 | 3
ST
3 x 15 15 O 5 15 O 11
4| HR R 5 — 15 15 — 4 15 — 12 2-1 2
e
Ey—4 AE fE #Z il oK B EH W | VER
15 O 4 15 O 13 11 x 15
1| ABR @R 15 - 0 15 - 2 15-13 2| 2-1| 2
e 13 15
4 x 15 9 x 15 6 x 15
2| FE EZ 0 — 15 10 — 15 6 —15 2| 0-3 | 4
W=
13 x 15 15 O 9 15 x 14
3 Ei K3 2 — 15 15 — 10 11 — 15 2| 1-2 3
e 5 15
15 O 1 15 O @ 14 O 15
4 ANl EH 13 — 15 15 — 6 15 — 11 3-0 1
b5 15 13 15 5
F)=4 Mg B Bl #X a5 iR thO 3k MR | IERE
15 O 2 15 O 4 150 3
1 NE B 15 — 3 15 — 6 15— 9 0f a3-o0 1
4 AR
2 x 15 15 O 7 15 x 12
2| Bl #X a - 15 15— 9 g8 —15 2| 1-2|
R 9 15
4 x 1§ 7 x 15 9 x 15
3|  BFF BUE 6 — 15 9 — 15 9 —15 2| 0-3 | 4
=
3 x 15 12 O 15 15 O 9
4| WO 3R 9 — 15 15 — 8 15— 9 2-1 2
iS5 15 9

No.4



mB25F BT (27)

Gy—4 & [ e HE B hE WK R | B
15 5 11 x 15 15 8
1 A & 15—-2 0|0 13 —15 2 15— 3 0| 2-1 2
e
5 x 15 8 x 15 11 15
2| MR EH. |0 2 — 15 0 3 -15 2 13 —15 2| 0-3 | 4
W& B
15 O 11 15 8 15 6
3 HE 2R 2 15 — 13 5 — 3 0 15— 5 0| 3-0 1
HiE:
8 x 15 15 O H 8 x 15
4 FE RBX 0 3 — 1§ 15 13 0|0 5 — 15 2 1-2 3
MR

No.5



ERE1EEZF(12—10) zse4

AY=4 B FRE FH 2ZT W i 0 W |
150 3 15 0 2
1| HEF ORAE 2 15-5 0|2 15 - 2 = 2-0 1
Ha
3 x 15 15 x 14
2| RHE RZE 5 — 15 1 - 15 - 0-2 | 3
A= 7 15
2 x 15 14 O 15
3 we B 2 — 15 2 15 — 9 | — 1-1 2
B 15 7
4 = - -
BY)—4 B BE mE Bk & HEE B2 97 MR | MG
150 4 15 0 10 15 0 8
1| HEE BE 2 15- 4 0|2 12 - 15 2 15 —10 0| 3-0 [ 1
B 15 6
4 x 15 3 x 15 4 x 15
2 =& B 4 — 15 0 2 - 15 0 — 15 2| 0-3 4
e
10 x 15 15 O 8 15 O 12
3 & 981t 15 — 12 2 15 — 2 0 2 15 -8 0| 2-1 2
B 3 15
8 %X 15 15 O 4 12 x 15
4 % 9% 10 — 15 2 15— 9 0|0 8 — 15 1-2 3
i =
cy—4 MO B A X4 HR HH 0 B | MR
8 015 9 x 15
1| BR ER 215-111/0 9 — 15 - 1-1| 2
To) 15 11
15 x 8 5 x 15
2 BA B4 " - 15 0 6 — 15 — 0-2 3
HE 11 15
15 O 9 15 O 5
3 & W 15 — 9 2 15 — 6 0 - 2-0 1

il

No.6



B 2FELXF (14—11) uas

IV BHE KE 2K N ik —_ MR | IEfL
15 O 10 15 O 10
1 RRE 2 15 — 6 2 15 -13 0 - 2-0 | 1
tH
10 x 15 4 x 15
2 KE EK 8 — 15 0 7 —15 2 - 0-2 3
=
10 % 15 15 0 4
3 INBR FTHE 12 — 15 2 15 — 7 = 1-1 2
=
4 _ - n =
Blj—d AR 125 hg ¥ FER EH 3t Bp3Y MR | IEfE
15 O 2 150 9 15 O 4
1| BR 2 2 15 — 4 2 15-6 0215 —3 0| 3-0| 1
Lol
2 x 1§ 7 x 15 10 x 15
2 hE ¥ 4 — 15 0 7 -15 2|1 15 —10 2| 0-23 4
or 4 15
9 x 15 15 O 7 15 O 10
3| MER EH 6 — 15 2 15 — 1 2 15— 9 0| 2-1 2
=
4 x 15 15 O 10 10 x 15
4| fR3H B3Y 3 — 15 2 10 — 15 0 9 — 15 2 1-2 3
o= 15 4
cy—4 MR | IER
1
2
BEIRBDI=HCU—T T o7z, —
3
4

No.7



BEB2EZF(14—11) mmas

py—4 A WR % HBL SR = x® HT B | RS
150 7 15 0 1 8 O15
1| R R 215-11 0|2 15— 5 15 — 11 a-0 | 1
W= 15 11
7 x 15 15 O 1 9 x 15
2| B HEL " o— 15 15 — 2 9 — 15 1-2| 3
i
1 %X 15 1 x 15 x 15
3 SR ZE 5 — 15 0 2 — 15 2 2 —15 0-3 4
e
15 x 8 15 O 8 15 O 2
4 XE #id 1 — 15 2 15 — 9 0 15— 2 2-1 2

zli]

1 15

No.8



a1 FBF REF—FT AV No.9

XHABS1~4 150 —LGERRL) XESESI~1 - ERLV-

o NI ) ng x=
Al C1
0] 2 0 s
21-8 10-21
Ll KE SR ol 2 2 “ R
A 2 0 W
15-7 0 2 8-15
15-12 4-15
HA #iE 0 2 BF &
F2 F1
WE el
_ 2{o 15-21
- ﬂ!m HEH
21-19
thi 3} ER EA
E1l E2
= 2 0 HT
15-9 16-15
:::;5 A 0 12:“!
E ] 1 2 AR @R
G2 A2
W&k 21-19 u f 4-21 AR
i 21
®n ME 2 | mi R
D1 B1
RE s




BR2FEBF REBb—T AV E

KAAGES1~6- 1583V —LERRL) XHEAHEST~13 - ERL-IL

1-14
21-11

18-21

. g B3 :
i) 2
21-7
21-4 2 2
T ik v |
F2 [ —
Lia[s] 0
6-15 g
8-15
A 2 2
G2
i)
21 1921
i z,!n 21-18
17-21
LA m gl
i) 2
15-10
16-8 o
2 #5 EKER 0
W EHk
7-21 0 !
.| WEAR B M
#ifs o
3-15 2
10-15
AR Wt 2
D1

17-21

Al B =
g ks ]
151
158
0 AR #HE e
WEEx
HiR #W
D2
0 L=y
G-15
5-15
2 NG BE .
REAE
EE #i
Gi
2 e
15=7
1610
0 hE #i—
A2
W E
BNl g
B1
R

No.10



B FF REb—FT AV b

XEHE ERIL—I

BE RAx
s

Al

MA 3
e

C2

# BAft
i

B2

18- o 0
132
i

211

£1-10

A B
Ll

[e1]

e Wt
HfE

2182
2185 L

@ R
A

Bl

17-21

.

21-8

=N Bl

18-21]

BB 2ETF REL—F XD

X2Ra ERL— () FBE4->3U—JICEBLERESD, F—F XY FRBBELE.

21-1

RRE #l
Al
ok ]
X® FiF
D2
o]
mER EF
B2
RE
N AR BER
A&
N FIAE
A2
=
AR EF
Bl
R

218

21-14 2 0

2118

0

21-a42

17-21

21-17)4 o
21
18-21

0
18-21
w-zllz'_




B B 31 1 ivi
pAWE | MR R | BANE | BN E
BT
i i ot A
NE B | B W | Bk Wt | A g
2EBRT
i e i i
BE wox | M K5 | & Eat | BE r
1ELF
iR 7 ol A
R &6 | mE M | KA AT | Bk X
2ELT
i el 7 S




